

الف) $n^2 - n - 2 = 0$ $n = \frac{1 \pm \sqrt{1+8}}{2}$ $m = 3$ $n = 2$

ب) $m = 2$ $a = -1$ $n = 2$
 $m-1 = 1$

۳(۱) - ۱ = ۲ $(1) + a < 2$ $a \leq 1$
 $a \in (-\infty, 1]$ $R = [2, +\infty)$

$R: m-1 \Rightarrow [2, +\infty) \Rightarrow an + a - 1 < 2$
 $a \in (-\infty, 1] \Rightarrow a(m+1) < 3$ $n+1 < \frac{3}{a} \Rightarrow n < \frac{3-a}{a}$
 $a(0) + a - 1 < 2$ $|a| < 3$ $a \in [0, 3)$

الف) $y_1 = n_1^2 + 2$ $y_2 = n_2^2 + 2$ $n_1^2 + 2 = n_2^2 + 2 \Rightarrow n_1 = n_2$ یک به یک

$n = y^2 + 2 \Rightarrow \sqrt{n-2} = y$

ب) یک به یک است $\{(1, -1), (3, -1)\}$ و $\{1, 3\}$ متناهی

الف) $y = \frac{2n+1}{n-3}$ $n = \frac{3y+1}{y-2}$ $y = -\frac{2n-1}{n-3}$
 روش بیل

ب) $D_y = R - \{-2\} \Rightarrow \frac{2(n+2)}{n+2} = 2$ $y = 2 \rightarrow$ غیر یک به یک

الف) $y_1 = \sqrt{m_1 - 2}$ $y_2 = \sqrt{m_2 - 2} \Rightarrow \sqrt{m_1 - 2} = \sqrt{m_2 - 2}$ $m_1 = m_2$
 $n = \sqrt{y - 2}$ $y = n^2 + 2$

ب) $\frac{-b}{2a} \Rightarrow \frac{1}{2} = 1$ $m_1^2 - 1m_1 + 2 = m_2^2 - 1m_2 + 2$ $(m_1 - m_2)(m_1 + m_2) - 1(m_1 - m_2)$
 $= (m_1 - m_2)(m_1 + m_2 - 1) = 0$ $m_1, m_2 > 2 \Rightarrow m_1 = m_2$ $y_1 = y_2 = \sqrt{n+1+2}$
 $y > 2$

$n = y + \sqrt{y}$ ~~$n + \frac{1}{y} = y + \sqrt{y} + \frac{1}{y}$~~ $n + \frac{1}{y} = y + \sqrt{y} + \frac{1}{y} \Rightarrow n + \frac{1}{y} = (\sqrt{y} + \frac{1}{y})^2$
 $\Rightarrow \sqrt{n + \frac{1}{y}} - \frac{1}{y} = \sqrt{y} \Rightarrow n + \frac{1}{y} + \frac{1}{y} = \sqrt{n + \frac{1}{y}} = y = n + \frac{1}{y} - \sqrt{n + \frac{1}{y}}$
 $a=1$ $b=\frac{1}{y}$ $c=-\frac{1}{y}$ $a+2b+3c = 1 + 1 - 1 = 1$

$\frac{m_1}{\sqrt{m_1^2 - 2}} = \frac{m_2}{\sqrt{m_2^2 - 2}} \Rightarrow \frac{m_1}{m_1^2 - 2} = \frac{m_2}{m_2^2 - 2}$ $m_1^2 m_2^2 - 2m_1^2 = m_2^2 m_1^2 - 2m_2^2$
 $m_1^2 = m_2^2 \Rightarrow m_1 = m_2$
 $n = \frac{y}{\sqrt{y^2 - 2}} \Rightarrow n^2 = \frac{y^2}{y^2 - 2} \Rightarrow y^2 = \frac{2n^2}{n^2 - 1} \Rightarrow y = \frac{n\sqrt{2}}{\sqrt{n^2 - 1}}$
 $(-\infty, -\sqrt{2}] \cup [\sqrt{2}, \infty) \Rightarrow$ حقیقی

$\frac{n}{1+|n|} = -\frac{1}{\omega} \Rightarrow \frac{n}{1-n} = -\frac{1}{\omega}$ $\omega n = -1 + n$ $n = -\frac{1}{\omega}$
 $f(-\frac{1}{\omega}) = \frac{-1}{\omega} \mid g^{-1}(\frac{1}{\omega}) \Rightarrow \sqrt{n} - 1 = -\frac{1}{\omega} \Rightarrow \sqrt{n} = \frac{1}{\omega} \Rightarrow n = \frac{1}{\omega^2} = g^{-1}(-\frac{1}{\omega})$

$-\frac{1}{\omega} + \frac{1}{\omega} = \frac{-\omega + 1\omega}{\omega\omega} = \frac{0}{\omega\omega}$

$f^{-1}(n) = \sqrt{n-1} \Rightarrow n^2 = y-1$ $f(n) = n^2 + 1$

$g(n) = n^2 + 1 + \sqrt{n^2 + 1} = 12 \Rightarrow t + \sqrt{t} = 12$ $t = 9$
 $n^2 + 1 = 9$ $n = 2$ $g^{-1}(12) = 2$

مختار